Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Semester -IV Remedial Examination June - 2011

Subject code:340602 Subject Name: Surveying-I11
Date: 04/ 06 /2011 Time: 02.30 pm - 05.00 pm
Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
Q.1 (a) Define Triginometrical leveling. Derive the equation to compute the height of
the object when the instrument axes are at different level.
(b) Following observations are made to find the RL of top of light house.

Instrument  Staff reading Vertical Angle Remark
Station on BM
P 1.510 + 14°-30 RL of BM
Q 0.635 +11°-42° 1s 5.550m

Instrument stations P, Q and Light house are in same vertical plane. The
distance PQ = 30.00m.

Q.2
(@) Define tacheometry. State uses of tacheometry
(b) Explain the field method to determine constants of a tachcometer
(c) A tacheometer is set up over station A. The staff intercept taken on a leveling
staff kept at 40m and 70m are 0.395 and 0.695m respectively. The staff
reading taken on stadia rod kept over station B are 1.215,1.665, 2.115 with
vertical angle — 15° 40”. Find the RL of station B, if RL of station A is
100.50m & height of instrument is 1.51m.
OR
(c) The staff reading taken on BM having RL 100m are 0.800, 1.135, 1460 with
vertical angle +5°. The telescope was transited. The staff reading taken on staff
kept over station P with vertical angle — 6° 25 are 1.515, 1.945,2.370. Find
the RL of P and the horizontal distance between BM & station P. Take
tacheometric constants as 100 & 0.20.
Q.3

(a) Explain tangential method of tacheometry survey. Derive the equation to find
horizontal distance & height of a object when one of the observed angle is
angle of depression & the other is angle of elevation.

(b) A theodolite was set up over station A having instrument height 1.515m. The
staff reading taken on station B with vertical angle 4°15° & 5° 40’ are 1.310
& 3.410m respectively. If RL of staff station B is 150.50, find the RL of
Instrument station.

OR
Q.3 (a) Draw neat sketch of simple circular curve. Label different elements of curve.

(b)  Calculate the ordinates from long chord at 10m interval for a simple circular

curve having radius 120m & length of long chord 90m

(c) Explain Rankine’s method to set up circular curve.

Q.4

(@) The chainage of point of intersection of two straight lines is 3450.80m If the
angle of deflection is 66° and radius of curve is 300m, calculate chainage of
point of curve, point of tangency and versed sine of curve.
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Discuss advantages & disadvantages of modern methods of surveying over
conventional methods..

OR
Enlist obstacles in setting out circular curve. Explain any one to overcome the
obstacle.
Discuss present state-of-art in the field surveying techniques

State advantages of field generated maps on screen of total station.
Discuss use of total station in traversing
Explain the capabilities of Measure function
OR
Explain Initial setting up of total station
Discuss co ordinate systems used in total station .
State sources of errors in total station survey.
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